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8. (a) What do you mean by unintended inventory

investment? Explain the situation when it becomes

negative and positive with the help of diagram.

®)

(b) What is credit creation? With the help of an
example explain how banks can create credit What

are the limitations of credit creation?
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2. Wy WS v g W ; ; 7. (a) What dQ _Srou mean by Opén market operations?
3 = ura v i ) ; ‘ How does the central bank use open market
( : operations to control the money supply in the
economy? (12)
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(b) Calculate marginal propensity to consume and
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Income Consumption MPC MPS
(Crore) (Crore)
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1. (a) Define the concept of user cost of capltal What : . 100 85
are the components of user cost of capltal'? Use, . \00 200 160
suitable examples to discuss why each is a cost of 300 235
using a capital good. ‘ (12)
/ 400 310
(b) Explain the factors that affect the consumption :
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5. (a) Define money. Discuss the functions of money.

(6)

(b) Explain how equilibrium is determined in the money

market. What happens to the equilibrium rate of

interest in the following situations? Use suitable
diagram. ‘

(i) Increase in nominal income.

(ii) Increase in money supply. (12)
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6. (a) What are the precautions one should consider while
measuring the national income of a country through
the value-added method? 9)

(b) Critically examine the Quantity Theory of Money.
Does an increase in money supply always lead to

a proportionate increase in prices? (9)
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(a) Macroeconomics has been described as a study
of aggregates. Examine the major issues analysed
( in macroeconomics. , (12)

(b) ‘A sum of all the different expenditures will give
the GDP by the expenditure method.” What are

these expenditures? Discuss. (6)
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3. ( ‘a) Given the followmg mformatmn about the economy

of a country

C =100 + 0.75Y,

I=200
G=T-=100
TR = 50
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Where G is the government expenditure on goods
and services, T is the lump sum tax and TR is
transfer payments.:

(i) Find the equilibrium level of income.

(ii) Calculate the government ,expend(
multiplier and transfer payment ‘multiplier.
What is the difference between the two?

(iii) If the full employment level of income is
1600 crore, how much government
expendlture be increased to attain full
employment? (12)

s A
(b) With the help of diagram derive the saving function

from the consumption function. (6)
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4. (a) In Keynesian model discuss the effects of changes
in fiscal variables- increase in government
purchases reduction in the income tax rate and
an increase in the transfer payments, on the
equilibrium level of income. (12)

(b) The size of the investment multiplier varies directly
" with the size of the marginal propensity to consume
(MPC). Do you agree with the statement? (6)
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